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QUESTION 1

Which of the following does NOT apply to an idle UE in MICO mode?
A. The UE performs registration updates.

B. The UE connects to the network to send uplink data.

C. Power and signaling efficiency is optimized for the UE.

D. The UE listens and responds to paging.

Correct Answer: D

Reference: https://blog.3g4g.co.uk/2020/07/mobile-initiated-connection-only-mico.html

QUESTION 2

Which of the following statements regarding cloud RAN architecture is FALSE?

A. The gNB is split into three functional modules: a radio unit (RU), a distributed unit (DU), and a centralized unit (CU).
B. DU performs the non-real time processing of layer 2.

C. The fronthaul segment connects RU to DU and the midhaul segment connects DU to CU.

D. CU can be deployed in the cloud as a VNF.

Correct Answer: D

Reference: https://www.5gtechnologyworld.com/open-ran-functional-splits-explained/

QUESTION 3

Which of the following is NOT an advantage of the 5GS service-based architecture?

A. Application programming interfaces (APIs) are used to invoke services.

B. Service-based interfaces are point-to-point.

C. The service-based architecture enables flexible addition of new network functions and services.
D. Service producers are not aware of service consumers.

Correct Answer: C

QUESTION 4
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Which of the following elements is NOT used in the 5G non-standalone (NSA) deployment Option 3?
A. Evolved Packet Core

B. ng-eNB

C.gNB

D. Dual Radio UE

Correct Answer: A

Reference: https://www.gsma.com/futurenetworks/wiki/5g-implementation-guidelines/

QUESTION 5

Which 5GS network function allows UE connectivity to 5GC through non-3GPP access networks?
A. SEPP

B. N3IWF

C. NWDAF

D. NEF

Correct Answer: C
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